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01T 20Ia LBHs|H GoHS ~ HHS
SN LS
Hal: oS A
Sl FOIEOG KR (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
o S 314,796 327,318 £12,502
oS Al 182,215 191,524 £9,309
Z0IE0 KR 132,215 131,524 691
ol - BHY HEXY 108,930 108,930 0
301 LB A 108,930 108,930 0
05 -2 - SEESEN2 108,930 108,930 0
o0l Z4g 101,680
24y 20000081 +31% * 122 74,400
—&40i2 200,000 %312 x23| 12,400
R 20,0002 312 * 122 23] 14,880
ouE S| 50,0002 1459 7,250
2402 L HAXS 7,500 7,500 0
201 LByl 3,000 3,000 0
03 A2 | 3,000 3,000 0
ORSABALY 1,500,0008! %23 3,000
301 YerEA3 4,500 4,500 0
10 SAFAIHI A 4,500 4,500 0
OBAAHIB A3 4,500
—SUSS A FAT SAL
7,0002 10023 x23] 1,400
YU RHEHAY HYs| AT B4
10,0002 %150 *13| 1,500
—=XAAE 5o A B4
10,0002 * 153 *43| 600
—2E9 HAHOISSR S) AT 24
10,0002 50 x22 1,000
2K 15,785 15,004 691
201 Yer2g| 14,435 13,744 691
02 ZZ2Y| 14,435 13,744 691
ORtZ s ey 5,734
—32x 254
1,511,292 2, 500kn/ 10% 122 4,534
— Xt F | 100,000 *1CH* 122 1,200
SlET] 1,062,512 %20 £ 20} 4 +120 5,101
CNEETES 300,0002 *122 3,600
203 YREAY| 1,350 1,350 0
03 AlZZ=XQ =Y 1,350 1,350 0
OmoH=T % IR 12,5002 128 1,350
ZOIBO A& 25 50,000 60,000 10,000
AFS FOAL Ha 50,000 60,000 ~10,000
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401 AlEHIL 2] 50,000 60,000 £10,000

01 Al&H] 50,000 60,000 210,000
OARZ A& 50,000

SEECETIEES 182,581 135,794 73,213

LT 182,581 135,794 73,213

EET 182,581 135,794 73,213

201 ey 58,701 58,504 107

01 AR B2l 41,901 41,794 107
osy+g 50,0002 1162 5,800
SRR 32,776
—BM2Y LBaBHl 1,600,002 +12 19,200
—QIRYIE HIE PY 900,0008+128 0,800
~2INH 222 WX 200,000 %3] 400
SIETIES 1980002 * 128 2,376
OBN2Y S 70002 *19% x2541 3,325

02 T2 16,800 16,800 0
02223 2 WA 1,400,0002 +12% 16,800

202 01| 62,320 65,600 13,280

NETET 62,320 65,600 £3,280

ORUCIHI(ZNEY L SEBIFT)

0,000%! *19% 1642 62,320

203 YR ETY| 11,560 11,600 £40

01 Jl2SYy YR 6.600 6.600 0
OJzeYYLEAY 550, 0002 +12% 6.600

02 ALY RETY| 760 800 £40
OB YR =T 40,0002 » 19 760

M RHESYYRE=TL| 4,200 4,200 0
LV EEEEE S 350,000+ 122 4,200
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R 20,0002 +22% * 122 23] 10,560
OB S 50,0002 ¥52% 2,600
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201 LByl 3,000 3,000 0
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301 YerEA3 3,420 3,420 0
10 A 243 3,420 3,420 0
OBAAHIB A3 3,420
—SUSS AEIHA FAT SAL
7,0002 +80% #23] 1,120
YU RHEHAY HYs| AT B4
10,0002 * 1502 13| 1,500
—=XAAE 5o A B4
10,0002 * 153 +25| 300
—2E9 HAHOISSR S) AT 24
10,0002 *50 * 124 500
2K 14,585 13,894 691
201 Yer2g| 3,235 12,544 691
02 ZZ2Y| 13,235 12,544 691
ORtZ s ey 5,734
—32x 254
1,511,292 2, 500kn/ 10% 122 4,534
— Xt F | 100,000 *1CH* 122 1,200
SlET] 1,062,512 %20 £ 20} 4 +120 5,101
CNEETES 2000002 *122 2,400
203 YREAY| 1,350 1,350 0
03 AlZZ=XQ =Y 1,350 1,350 0
OmoH=T % IR 12,5002 128 1,350
ZOIEO Al 50,000 50,000 0
AFS FOAL Ha 50,000 50,000 0
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SN ASE
HE: NS0 A
Sl Z0IE O]

20
B
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MSo 248,611 251,133
ST ASHY 149,345 148,654
Z=oI&0 X 99,345 98,654
ol - B 78,340 78,340
301 78,340 78,340
05 = U EE S 78,340 78,340
OO0l 45 75,440
leay 200,008 23 * 122 55,200
—&40i2 200,000 *23% *23] 9,200
R 20,0008 %238 122 *23] 11,040
ouE S| 50,0002 *58% 2,900
2402 L HAXS 6,420 6,420
201 Yereg| 3,000 3,000
03 A2 | 3,000 3,000
ORSABALY 1,500,0008! %23 3,000
301 YerEA3 3,420 3,420
10 SAFAIHI A 3,420 3,420
OBAAHIB A3 3,420
—SUSS AEIHA FAT SAL
7,0002 +80% #23] 1,120
YU RHEHAY HYs| AT B4
10,0002 %150 *13| 1,500
—=XAAE 5o A B4
10,0002 * 158 x23| 300
—2E9 HAHOISSR S) AT 24
10,0002 *50 * 124 500
2K 14,585 13,894
201 Yer2g| 3,235 12,544
02 ZZ2Y| 13,235 12,544
ORtZ s ey 5,734
—32x 254
1,511,292 2, 500kn/ 10% 122 4,534
— Xt F | 10,0002 *1CH+ 122 1,200
SlET] 1,062,512 %20 £ 20} 4 +120 5,101
OA& =Y 2000002 *122 2,400
203 YAREX 1,350 1,350
03 Al® | 1,350 1,350
Onsh = SLE 12,5002 128 1,350
Z=oIm9 Al 50,000 50,000
ARD FONE HA 50,000 50,000
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Sl FOIHO Al EE
CEE S (BH) - MEAY - B2 Abod e
AEHI L2 50,000 50,000
NE=1:1 50,000 50,000
OLE ANE 50,000
HY 2G| (AsH) 99, 266 102,479
Jl=&Hl 99, 266 102,479
Jle=23| 99,266 102,479
2 Bt2 Z | 43,186 43,079
01 AFR 22l 31,186 31,079
ozgd=+¢ 50,000& 116 5,800
Ogt=ZH| 22,936
—2N2d Let=ZH| 1,200,000& x12& 14,400
—QIAYEZE HE ¢ 400,000& 128 4,800
—ZZANH EE2E HNH 200,000& *23| 400
—FoAd=4a 278,000& = 12& 3,336
O2N2E ==l 7,000 x 145 x254] 2,450
2322l 12,000 12,000
O232= £ HMA 1,000,000& x12& 12,000
(1] 45,920 49,200
=LA b 45,920 49,200
ORUGHI(RASY U SEHUYEX)
0,000 x14H x164 45,920
QR F4HI 10,160 10,200
I 22F LR =EH| 6,600 6,600
OJI&#2F YR =4I 550,000& =12& 6,600
AN HSFAH] 560 600
OZAINAARFAHI 40,0003 14 560
EA2IEHERFLAYI 3,000 3,000
ORNSIEHRFAH 250,000& = 12& 3,000
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK bﬂngﬁ HwsZ
i[ES 208, 156 203,433 4,723
DIZS At 104,895 104,204 691
ZOIE0 X 64,895 64,204 691
o - Bty =X 43,890 43,890 0
301 LeHE A 43,890 43,890 0
05 S-2 - BINEsENE 43,890 43,890 0
00l 4+ 42,640
—Jl2ay 200,0002! * 13 * 122 31,200
— 4012 200,0002! 13 +23| 5,200
=P 20,0009 * 132 x 128 %23 6,240
OFIE2-"3=%] 50,0008 252 1,250
L4202 U HAXS 6,420 6,420 0
201 Yer2ey| 3,000 3,000 0
03 A2 Y| 3,000 3,000 0
OTHABAMSY 1,500, 0002 +25] 3,000
301 LerE AR 3,420 3,420 0
10 BAAH 2AS 3,420 3,420 0
O#AAHI B &S 3,420
—SHUS ASHA FAX SA
7,0009 480 *23| 1,120
—YE PHHEOAY 25 FAR 24
10,0002 %150 * 1] 1,500
— =XV 39 HAR P4
10,0008 152 x23] 300
—2HS BAHOISER S) AKX 24
10,0002 *502 * 12 500
AN 14,585 13,894 691
201 Yer2ey| 13,235 12,544 691
02 ZZSIH| 13,235 12,544 691
Oxtg eyl 5,734
—st2x ]2
1,511.29%!%2,500k/ 10+ 122 4,534
=] 10,0002 *1CH 122 1,200
ozl 1,062.512420 £ *20H A #1202 5,101
OAl & ZHIRX Yl 200,0008! * 122 2,400
203 YR FAY| 1,350 1,350 0
03 AIBEXYREAY| 1,350 1,350 0
OMaH=> & oIz 12,5002 * 128 1,350
FOIEO AlE BE 40,000 40,000 0
AFRE FOIAIE JHA 40,000 40,000 0
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SA-E . S(E) - MEAY - BES 01l &4 24 e SImE=ET
401 AIEHIZ 208 40,000 40,000 0
01 Al&H| 40,000 40,000 0

Oar2 A4 40,000
HE2AHHI(0I=H) 103,261 99,229 4,032
Jl=&dl 103,261 99,229 4,032
JI=&Hl 103,261 99,229 4,032
201 LEH2HH| 45,561 41,529 4,032
01 AtE22/Hl 33,561 30,729 2,832
Oo2g=¢ 50,000& x 115 5,750
Ogst2gt| 25,536
—2AN2E Let=2H| 1,300,000& =128 15,600
— LS E HIS 2L 500,000& =12 6,000
—z3ANHE EEES HH 300, 000& »22] 600
—feFdEd 278,000& «128 3,336
O&ZM2E =&l 7,000& «13H %254 2,275

02 3323l 12,000 10,800 1,200
O232= ¥ HMAl 1,000,000 x12& 12,000

202 (4Hl 47,580 47,580 0

01 =AY 47,580 47,580 0

OO (RHSY L SEHBEX)

0,000 «13& 183 47,580

203 ¥R =&l 10,120 10,120 0

01 D22 HRF4dl 6,600 6,600 0
OJ|22Z L= 550,000& 128 6,600

02 HIMMHRE=LEH| 520 520 0
OZ PR =LH] 40,0003 «13¥ 520

04 2EANSSHRFLHI 3,000 3,000 0
ORAN2IHRF4H 250,000 «128 3,000
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o1 260,898 259,864 1,034
g AR 161,502 160,840 752
Z0IE0 KR 111,592 110,840 752
ol - BHY HEXY 88,480 83,480 0
301 LB A 88,480 83,480 0
05 -2 -HPBS2HI 88,480 83,480 0
o0l Z4g 85,280
24y 200, 0002 x26% * 122 62,400
— 802 200,000 *26 *23] 10,400
R 20,0002 +26% * 122 23] 12,480
OB S 50,0002 642 3,200
2402 L BAKXE 6,420 6,420 0
201 LByl 3,000 3,000 0
03 A2 | 3,000 3,000 0
ORSABALY 1,500, 0002 23] 3,000
301 LPBAI 3,420 3,420 0
10 A 243 3,420 3,420 0
OBAAHIB A3 3,420
—BES ATHA FHT SAY
7,0002 %802 *23] 1,120
YU RHEHAY HYs| FAX B4
10,0002 * 1502 13| 1,500
=TS 3o A P4
10,0002 * 153 +25| 300
—2E9 HAHOISSR S) AT 24
10,0002 ¥50% * 124 500
2K 6,692 15,940 752
201 Yer2 Y| 15,342 14,590 752
02 BZ2Y| 15,342 14,590 752
ORtZ s ey 7,841
—32x 254
1,511,292 %2,500kn/ 10+ 122 4,534
— UM RFH 1,511,292 500kn/ 10+ 122 907
L] 100,0002! %2CH * 122 2,400
oeigl 1,062.5121%20 £ *27H A +1202 5,101
CNEETES 200,000 *122 2,400
203 YREZY| 1,350 1,350 0
03 AlZ =T R =Y 1,350 1,350 0
OMoH=T L IR 12,5008 %122 1,350
ZOIBO A &5 50,000 50,000 0
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SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
ARE FOAIE A 50,000 50,000 0

401 AlEHIZ 20| 50,000 50,000 0

01 Al&H| 50,000 50,000 0
OL72 Al- 50,000

HESAPH|(ZDH) 99,306 99,024 282

Jl2& | 99,306 99,024 282

Jlezdl 99,306 99,024 282

201 dBt23 | 43,186 42,904 282

01 AtR22telyl 31,186 30,904 282
o2dgs4 50,000& 116 5,800
Odet=2H| 22,936
—2NESY dBt=2H| 1,200,000& *12& 14,400
—AYZE IS 7Y 400,000& x12& 4,800
—ZEANM EE2E HE 200, 000& *x23| 400
—Rol3H =Y 278,000& x12& 3,336
OFNSH =&l 7,000 *14H x254] 2,450

02 S=2494| 12,000 12,000 0
Os32=2 % AHA 1,000,000& x12& 12,000

202 4 Hi 45,920 45,920 0

01 2| 45,920 45,920 0

OZUHoHI (2M2Y & SEsEFA)

0,000 *14H x 164 45,920

203 PR =&l 10,200 10,200 0

01 J|22I PR =4H| 6,600 6,600 0
OJ |22 R2=8Y| 550,000& x12& 6,600

02 HJAINSE 2= 600 600 0
ORI RFERY| 40,000& x15H 600

04 EASIPRF=AH| 3,000 3,000 0
OFRANSHIER=EH| 250,000& x12& 3,000
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SN EB -GS - MBAY - BES 01l &k o e HRE2
Hel 247,183 248,409 A1,221
Ml At gl 147,922 147,170 752
ZOIE0 X 97,922 97,170 752
ol - BHE 2SN 74,810 74,810 0
301 LB A 74,810 74,810 0
05 -2 - SEESEN2 74,810 74,810 0
o0l Z4g 72,160
24y 200, 0002 x22% * 122 52,800
— 802 200,000 x222 +23] 8,800
R 20,0002 +22% * 122 23] 10,560
ouE S| 50,0002 ¥53% 2,650
240HS L HBAXR 6,420 6,420 0
201 LByl 3,000 3,000 0
03 A2 | 3,000 3,000 0
ORSABALY 1,500, 0002 23] 3,000
301 LPBAI 3,420 3,420 0
10 SAFAIHI A 3,420 3,420 0
OBAAHIB A3 3,420
—SUSS AEIHA FAT SAL
7,0002 +80% #23] 1,120
YU RHEHAY HYs| AT B4
10,0002 %150 *13| 1,500
—ZTSAE Fo A 24
10,0002 * 153 +25| 300
—2E9 HAHOISSR S) AT 24
10,0002 *50 * 124 500
2K 16,692 15,940 752
201 LBty 15,342 14,590 752
02 BZ2Y| 15,342 14,590 752
Oxt et 7,841
—32x 254
1,511,292 %2,500kn/ 10+ 122 4,534
— M SRH 1,511,202 +500kn/ 10« 122 907
L] 100,0002! %2CH * 122 2,400
oeigl 1,062, 512520 £ *274 A 1202 5,101
CNEETES 200,0002 128 2,400
203 YREZY| 1,350 1,350 0
03 AlZ =T R =Y 1,350 1,350 0
OMH=7 & eIReh 12,5008 %122 1,350
ZOIHO A& EE 50,000 50,000 0




SN ME
B Ael AR

CHol: FOImO| AlM =B (el &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
ARE FOAIE A 50,000 50,000 0

401 AlEHIZ 20| 50,000 50,000 0

01 Al&H| 50,000 50,000 0
OL72 Al- 50,000

HESAHH|(MSH) 99,266 101,239 AN1,973

Jl2& | 99,266 101,239 AN1,973

Jlezdl 99,266 101,239 AN1,973

201 dBt23 | 43,186 41,879 1,307

01 AtR22telyl 32,386 31,079 1,307
o2dgs4 50,000& 116 5,800
Odet=2H| 24,136
—2NESY dBt=2H| 1,200,000& *12& 14,400
—AYZE IS 7Y 500,000& x12& 6,000
—ZEANM EE2E HE 200, 000& *x23| 400
—Rol3H =Y 278,000& x12& 3,336
OFNSH =&l 7,000 *14H x254] 2,450

02 S=2494| 10,800 10,800 0
O2222 2 HA 900,000& x12& 10,800

202 (4 Hi 45,920 49,200 N 3,280

01 2| 45,920 49,200 N 3,280

OZUHoHI (2M2Y & SEsEFA)

0,000 *14H x 164 45,920

203 PR =&l 10,160 10,160 0

01 J|22I PR =4H| 6,600 6,600 0
OJ |22 R2=8Y| 550,000& x12& 6,600

02 HJAINSE 2= 560 560 0
ORI RFERY| 40,000& x14H 560

04 EASIPRF=AH| 3,000 3,000 0
OFRANSHIER=EH| 250,000& x12& 3,000
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SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
EH 250,881 253,363 N2,482
DEE At 3| 152,775 152,084 691
FEEAH X2 102,775 102,084 691
ol - gt&EasI# 81,770 81,770 0
301 et = 81,770 81,770 0
05 &-cl-eEEs243 81,770 81,770 0
oolg+=< 78,720
—Jl=z=¢g 200,000& +24Z 128 57,600
—a0= 200,000& »24H 23| 9,600
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